Multimedia Appendix 2. Calculation of the HHI

Calculated HHI for Ontario group
Calculation obtained from website: https://goodcalculators.com/hhi-calculator/
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Calculated HHI for Quebec group
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Regarding the formulas for calculating the HHI and the Normalized HHI:                                                                                            
                                                                           
                                                                             n           
                                                                HHI = ∑ (Xi /X )2
                                                                          i=1

                                                         Normalized HHIN = HHI−1/n
                                                                                              1−1∕n 


Where X represents the total number of spoken interventions from all participants in the deliberation; Xi represents the number of interventions by each participant; Xi /X is the proportion of interventions per participant, and n is the total number of participants in a deliberating group. A normalized HHIN = 0 indicate a complete equality of spoken intervention, and an HHIN = 1 a complete polarization of the deliberative dialogue [51, 52].

Ontario and Quebec: Calculation of the Normalized HHIN 
n= 27 (Ontario)
n= 20 (Quebec)


Ontario HHIN= 0.069 – 0.037 = 0.032 = 0.033
                            1 – 0.037         0.963



Quebec HHIN = 0.083 – 0.05 = 0.033 = 0.035
                           1 – 0.05            0.95
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HHI Classification: Low Concentration

HHI Formula

The formula that is used to calculate the HHI is as follows:

HHI = MS;2 + MS,2 + MS32 + ... + MS,2

Where MS,, is the market share percentage of firm n denoted as a whole number.
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HHI Calculator — Results

HHI = 830

Name % Market Share (MS) Square of Market Share (SMS)
Firm #1 6 36
Firm #2 5 25
Firm #3 14 196
Firm #4 5 25
Firm #5 6 36
Firm #6 15 225
Firm #7 0 0

Firm #8 6 36
Firm #9 0 0

Firm #10 5 25
Firm #11 5 25
Firm #12 0 0

Firm #13 8 64
Firm #14 5 25
Firm #15 4 16
Firm #16 4 16
Firm #17 0 0

Firm #18 4 16
Firm #19 8 64
Firm #20 0 0
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HHI Classification: Low Concentration




